Goldbach's Conjecture

Ritvi Singh D/O Mr. Jasveer Singh

Student of B.Sc (Final year), Govt. R.D. Girls College Bharatpur,Rajasthan, India

Goldbach's conjecture is one of the oldest and best-known unsolved problems in number theory and all of mathematics. It states:

Every even integer greater than 2 can be expressed as sum of two primes

Proof: We can prove above conjecture with the help of mathematical induction

Let P(n) be the statement that "every even integer greater than 2 can be expressed as sum of two primes"

i.e. every number of form 2n, n≥2 can be expressed as sum of two primes

We have,

$$P(2) = 2(2) = 4 = 2+2$$

 \implies 4 can be expressed as sum of two primes (2 and 2)

 \Rightarrow P(2) is true

Let P(m) be true then

$$P(m) = 2m = P_1 + P_2$$
(i)

Where $P_{1 \text{ and}} P_{2}$ are primes

Now, we shall show that P(m+1) is true

For which we have to show that 2(m+1) can be expressed as sum of two primes

We have,

$$P(m+1) = 2(m+1) = 2m+2$$

 $\Rightarrow 2(m+1) = P_1 + P_2 + 2$ (ii)

In order to show that 2(m+1) is sum of two primes we need to prove that either of the following possibility holds true:

- Since P_1 is prime so it is sufficient to prove that (P_2+2) is prime
- (P_1+1) and (P_2+2) both are prime
- If both the above possibilities do not holds good then we can show that if P_3 is any prime less (or greater) than P_1 then there exist a prime P_4 such that $P_3 + P_4 = 2(m+1)$

Now using equation (ii)

$$\frac{2(m+1) = P_1 + P_2 + 2}{2(m+1)} = \frac{P_1}{a} + \frac{P_2 + 2}{a} \dots$$
 (iii)

Where a is any arbitrary number less than 2(m+1)

Since, 2(m+1)>each term of R.H.S

 \Rightarrow factors of any term of RHS if exists will be smaller than 2(m+1)

Now there are two types of numbers smaller than 2(m+1):

- Numbers which divides 2(m+1)
- Numbers which do not divides 2(m+1)

Thus there arises following two cases:

- a is any arbitrary number which divides 2(m+1)
- a is any arbitrary number which do not divides 2(m+1)

Case -I: when a is any arbitrary number which divides 2(m+1)

Suppose a divides 2(m+1),qtimes then

$$\frac{2(m+1)}{a} = q \dots \text{(iv)}$$

Where q is any natural number Now, P_1 is prime \Rightarrow a do not divide P_1 Suppose a divides P_1 **u** times and leaves r_1 as remainder then, $P_1 = ua + r_1$ $\frac{P_1}{a} = \frac{ua + r_1}{a}$ -....(v) Substituting value of equation (iv) and (v) in (iii) $\frac{qa}{a} = \frac{ua + r_1}{a} + \frac{P_2 + 2}{a}$ $qa=ua+r_1+P_2+2$ $(q-u)a - r_1 = P_2 + 2$ $(q-u)a - a + a - r_1 = P_2 + 2$ $(q-u-1)a + r = P_2 + 2$ $Za + r = P_2 + 2....(vi)$ Where z=(q-u-1)And $r=a-r_1$ Then by division algorithm we can say that $(P_2 + 2)$ is not divided by a if z is whole number and r<a Now, we will prove that z is whole number Clearly, $2(m+1)>P_1>0$ $\Rightarrow \frac{qa}{a} > \frac{ua + r_1}{a}$ $\Rightarrow (q-u) > \frac{r_1}{a}$ Also $r_1 < a$ $\Rightarrow \frac{r_1}{a} < 1$ $\Rightarrow (q-u) \ge 1$ $\Rightarrow (q-u-1) \ge 0$ (vii) Also, q,u,1 all are whole numbers so their difference will also be a whole number Thus, z=(q-u-1) is whole number.....(viii) Again, $r=(a-r_1)$ Where $0 < r_1 < a$ \Longrightarrow a-r₁<a \Rightarrow r<a(ix) Thus from equation (vi), (viii) and (ix) we can say that a(P₂+2) is not divided by a **Note**: (Here $a \neq 1$. As, $(P_2+2)=za+r$ where 0 < r < aNow if $a=1 \implies r=0$ \Rightarrow P₂+2=za \Longrightarrow P₂+2 is divided by a) Result of case I: (P₂+2) is not divided by any number (other than 1) which divides 2(m+1) Case II: When a is any arbitrary number which do not divides 2(m+1) Since a do not divides 2(m+1) then by division algorithm we can say that $2(m+1) = sa + r_2$ Where s is any whole number

Again P_1 is prime thus P_1 is not divided by a Thus, $P_1 = ta + r_3$ (xi)

Where t is any whole number

And $r_3 < a$

Now, substituting values from equation (x) and (xi) in equation (iii) we get,

$$\frac{sa+r_{2}}{a} = \frac{ta+r_{3}}{a} + \frac{P_{2}+2}{a}$$

$$\Rightarrow \frac{(s-t)a+(r_{2}-r_{3})}{a} = \frac{P_{2}+2}{a}$$

$$\Rightarrow (s-t) + \frac{r_{2}-r_{3}}{a} = \frac{P_{2}+2}{a}$$

$$\Rightarrow (s-t)a+(r_{2}-r_{3}) = P_{2}+2$$

$$\Rightarrow wa+r_{4} = P_{2}+2$$

$$wa+r_{4} = P_{2}+2$$
(xii)

Since s and t are whole numbers this implies (s-t)=w is also a whole number Now there arises following two cases

1. If w=0 then,

$$0(a) + (r_2-r_3) = P_2+2$$

$$r_4 = P_2 + 2$$

.....(xiii)

$$\frac{r_2-r_3}{a}=\frac{P_2+2}{a}$$

Also, $0 < r_2, r_3 < a$

$$\Rightarrow$$
-a< r_2 - r_3

$$\Longrightarrow$$
-a $<$ r₄ $<$ a

Now on the basis of nature of r₄ there arises following conditions:

• $-a < r_4 < 0$

In this case equation (xiii) implies P_2+2 is negative integer but we know that P_2+2 is positive Hence, if w=0 then r_4 will never be less than zero .

• $\mathbf{r}_4 = 0$

This is also not possible because if r_4 =0 then from equation (xiii) P_2 +2=0 but P_2 +2 is positive. Hence r_4 will never be zero when w=0

• 0<r₄<a

In this case by equation (xiii) we can say that

$$\frac{r_4}{a} = \frac{P_2 + 2}{a}$$

Since r₄<a

$$\Rightarrow 0 < \frac{r_4}{a} < 1$$

$$\Rightarrow 0 < \frac{P_2 + 2}{a} < 1$$

$$\Rightarrow$$
 P₂+2 is not divided by a $(\because \frac{P_2+2}{a}$ is a fraction smaller than 1)

Result: In this case 2(m+1) can be expressed as sum of two primes P_1 and P_2+2

2.If w>0

Now there arises following conditions on the basis of nature of r₄

\bullet -a<r₄<0

Now in this condition we need to check whether $P_2+2\;$ is divided by a or not

From equation (xii)

$$wa+r_4=P_2+2$$

$$wa-a+a+r_4=P_2+2$$

$$(w-1)a+(a+r_4)=P_2+2$$

```
(w-1)a+r_5=P_2+2
Since w≥1
\Rightarrow(w-1)>0
Hence, (w-1)is whole number
                                                  ....(xiii)
Also,
-a < r_4 < 0
-a+a < r_4+a < 0+a
0 < r_5 < a.....(xiv)
Thus, from equation (xiii) and (xiv) we can say that (P<sub>2</sub>+2) is not divided by a
Thus in this case 2(m+1) can be expressed as sum of two primes P_1 and (P_2+2)
    0 < r_4 < a
Again from equation (xii)
wa+r_4 = P_2+2
Where w is whole number
And r_4 < a
Then clearly from division algorithm we can say P<sub>2</sub>+2 is not divided by a
Result: In this case 2(m+1) can be expressed as sum of two primes P_1 and (P_2+2)
    r_4 = 0
Since r_2 and r_3 are not zero this implies r_4 will be zero only and only if r_2 = r_3
Then in this case equation (xii) becomes
(s-t)a=P_2+2
If (s-t)=1
\Rightarrowa=P<sub>2</sub>+2
\RightarrowP<sub>2</sub>+2 is divided by itself
Also (s-t) \neq 1 then from equation (xii) we can say that P_2+2 is not prime. But it does not mean that 2(m+1)
cannot be expressed as sum of two primes as now also we have two more possibilities as told in starting of proof
[Which were 2.possibility: 2(m+1) is sum (P_1+1) and (P_2+1) then we will show that P_1+1 and (P_2+1) are
primes
3.possibility: 2(m+1) is sum of P_3 and P_4 where P_3 is an prime less(or greater) than P_1 and P_4 is any natural
number and then we will prove that P_4 is also prime
Now we will check whether the second possibility holds true
2(m+1)=(P_1+1)+(P_2+1)
Now we will prove that (P_1+1) and (P_2+1) both are prime
But, we know that all prime numbers except 2 are odd
Also P<sub>1</sub> and P<sub>2</sub> both are prime
\Longrightarrow P<sub>1</sub> and P<sub>2</sub> both are odd
\implies (P_1+1)and(P_2+1) are even
\Rightarrow (P<sub>1</sub>+1)and(P<sub>2</sub>+1) can be prime only and only if (P<sub>1</sub>+1)and(P<sub>2</sub>+1) both are separately equal to 2
Thus this possibility holds true only and only if 2(m+1)=(P_1+1)+(P_2+1)
                                                            2(m+1)=2+2
                                                             2(m+1)=4
Now we will check whether our last possibility holds true or not. For which let us consider a prime P_{3 \text{ and}} a
natural number P_4 such that P_3 + P_4 = 2(m+1).....(xv)
Since P<sub>3</sub> is prime, hence it will not be divided by any a(other than 1 and itself)
Thus we can write P_3 = va + r_6 (using division algorithm).......... (xvi)
Also 2(m+1) = sa + r_2....(xvii)
(as we have taken the case that 2(m+1) is not divided by a)
Now substituting value of P<sub>3</sub> and 2(m+1) in equation (xv) we get
sa + r_2 = va + r_6 + P_4
(s-v)a + (r_2-r_6)=P_4
w_1 a + r_7 = P_4
Again there arises following three conditions on the basis of nature of r<sub>7</sub>
    -a < r_7 < 0
    0 < r_7 < a
```

 $r_7=0$

Again for first two conditions we can prove P_4 is prime in similar manner as we have proved for P_2+2 But, if $r_7=0$ then,

$$(r_2-r_6)=0$$

Since r_2 and r_6 are not zero

$$\Rightarrow$$
r₂=r₆

Where r₆ is remainder when P₃ is divided by a

But, $r_2 = r_3$

Where r₃ is remainder when P₁ is divided by a

 \Longrightarrow $\mathbf{r}_3 = \mathbf{r}_6$

Now we will repeat above process finite number of times then we will definitely get a prime P_n which when divided by **a** leaves a remainder r_n such that $r_n \neq r_2$

Because if r_n = r_2 then it means that on dividing each prime number by arbitrary a we get same remainder but it is not possible.

If it would have been possible then difference between any two prime numbers will be multiple of a but we know that prime numbers do not follow any such law. For example 5,13 and 23 are primes but difference between any two is not divided by arbitrary $\bf a$ as

13-5=8

23-13=10

But there exist no arbitrary a which divides both 8 and 10

Note: Here a $\neq 2$ as we have taken the case that a do not divides 2(m+1)

Hence we can say that we can obtain a prime P_n such that $2(m+1) = P_n + P_{n+1}$

And 2(m+1) and P_n when divided by \boldsymbol{a} do not leaves same remainder

i.e. r_2 - $r_7 \neq 0$ where r_2 is remainder when 2(m+1) is divided by a

And r_n is remainder when P_n is divided by a

$$\frac{2(m+1)}{a} = \frac{P_n}{a} + \frac{P_{n+1}}{a}$$

$$\Rightarrow \frac{sa+r_2}{a} = \frac{xa+r_n}{a} + \frac{P_{n+1}}{a}$$

$$(s-x)a + \frac{r_2-r_n}{a} = \frac{P_n+1}{a}$$

Now, there arise only two cases which are as under:

- (s-x)=0 In this case P_{n+1} will be prime we can prove it in similar manner as we have proved for P_2+2
- $(s-x)\neq 0$ then again there arises two conditions
- 1. $0 < r_2 r_n < a$
- 2. $-a < r_2 r_n < 0$

In both cases we can prove that P_{n+1} is prime in similar manner as we have proved for P_2+2

[here (iii) condition r_2 - r_n =0 do not appears as $r_{2\neq}r_n$ also r_2 , $r_n\neq 0$)

Hence we can say that in this condition also 2(m+1) can be expressed as sum of two primes

Combining results of case I and results of all the conditions of case II we can say that in each and every condition we can express 2(m+1) as a sum of two primes

Hence P(m+1) is also true

Thus by principle of mathematical induction we can prove that every even integer greater than two can be expressed as sum of two primes





अच्छा काम, ठोस परिणाम.

कार्यालय जिला कलक्टर, भरतपुर प्रशस्ति-पत्र

वर्तमान राज्य सरकार के 3 वर्ष पूर्ण होने के अवसर पर आयोजित समारोह में जिला प्रशासन, भरतपुर द्वारा कु. रितवी सिंह को गणित विषय पर शोध पत्र IOSR में प्रकाशित होने की उल्लेखनीय उपलब्धि के लिए सम्मानित किया जाता है।

दिनांक 05 जनवरी 2017

(डॉ. नरेन्द्र कुमार गुप्ता जिला कलक्टर भरतपुर



International Organization of Scientific Research Community of Researchers

Is hereby honoring this certificate to

Ritvi Singh D/OMr. Jasveer Singh

In recognition of the Publication of Manuscript entitled

Goldbach's Conjecture

Published in IOSR Journal of Mathematics

Vol. 12, Issue 6, Ver.1 Nov, - Dec. 2016

E-mail id : jm@iosrmail.org Web.: www.iosrjournals.org

